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2*b-a
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TutorialOl Answers for No.3

ans.2=(AB=<4,7>) ans.2=(AB=<12,-4>)
ans.3=(AB=4i+7j) ans.3=(AB=12i-4j)
sl ans.4 = (| 4B| = (465, 8.062)) s ans.4 = (| 4B|=(44/10, 12.649))
ans.5=(u=0.496i+0.868;) [ ~ ans.5=(u=0.949i-0.316)
ans.6 =(c=3.473i+6.078)) ans.6 =(c=5.692i—-1.897))
Lans.7 = (d =—-4.465i—-7.814) L ans.7 =(d=-8.538i+2.846j) |
ans.l=(AB=<-5,-9,5>) ] | ans.1=(AB=<10,10,-3>)
ans.2=(AB=-5i-9j+5k) ans.2=(AB=10i+10j-3 k)
ez | ans3=(4B|=(/131,11.446)) g | ans3=(4B|=(4/209, 14.457))
ans.4=(u=-0437i-0.786j+ 0437 k)[ ans.4 = (u=0.692 i+ 0.692 j — 0.208 k)
ans.5=(c=-2.621i—4.718j + 2.621 k) ans.5 = (c=3.459 i +3.459j — 1.038 k)
| ans.6=(d=3.932i+7.077j-3.932k) | Lans.6 = (d=—-5.534 i — 5.534 j + 1.660 k)]
Ans5=<16,25>, ,Ans6=<21,-1>, ,Ans7=<-21,-38,20>, ,Ans8=<-11,-1,-37>

ans. =[|a|=1+/89,9.4341] | b5 4 b7 o= ]Z
b=<-56, 35> ' ’
- ans.zzh ' } | lal=110.10.000] | lal=110.10.000] p
Ans9 = b|=[7<«/2i9,?§-g38] o AnsIO= 57, 125301 | SIS b= 1157, 125301 | 0|
c= , -
_ans4=[|c|:[3 ?9’28.302]1 la+b|=[4/221,14.866] a—b|=[+293,17.117] _M%T

a+b=<17,16,-2>

a-b=<-1,-4,-18>
sl la|=1104/2, 14.142]

la|=1104/2, 14.142]
|b|=174/5,15.652] | 16| =174/5, 15.652]

la+b|=[34/61,23.431] a—b|=[341,18.466]

Anm:{ans.z:(lalzwwo,11.402])} Ansl5:{ans.2=(|a|:[4/113,10.630])}

ans.3 = (0 =37.875 degrees) ans.3 = (0 =221.186 degrees)
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